LE FUNZIONI E LE LORO PROPRIETA

x?=2x
120 )= e [CE.: x=2; y>0 per x>2]
x—1
121 y=In 4 [CE: x <1 v x>4; y>0 per x>4]
2—|x]
122 = N [CE: x>1; >0 per 1<x<2]
—
x—4
123 I A [CE: x#0 A x#1;p>0per x<0 v x>4]
x*—=5x+4
124 y=W [CE: x#0 A x#3;p>0perx<0 v 1<x<3 v x>4]
1— 4x? 1 1
125 )= CE: 0<x=— v x>1Lyp>0per0<x<-—v x>1
log 1 x 2 2
2
1—-2senx
e e
™ ™ 5 3 3 |
CE. x#7+ /err;y>0per2/<n-r§x<z-l—2/ew Y Zw+2/@w<x<7w+2krr v 7w+2krr<x<2fn'+2/err
oY arcsen x {CE 1_ 1 0 e 0 e 1]
= E: ——<x<—; er 0<x<—
VTN = an? 2 2 VU 2 |
Inx 1 1 ]
128 y=— CE: x>0 A x#F—;y>0per0<x<— v x>1
| = [x—1] 2 2 |
129 ) =\/22—2¥—2 —\V2 -2 [CE: x=1; y=0]
130 At [CE: x>2 A x#3; y>0 per x> 3]
= E:x A XF 3 er x
Y |x+3] In(x—2) y=vp
2x—1 _
131 ¢ ! 1
J’zﬁ C.E.:x#O;y>Operx<0vx>7
V1
52 y:izx [CE: x=1 A x#2; >0 per 1 <x<2]
1—log,x
senx ™ a m
198 y=—"" CE: x #—+km A x#—+ km; >0 per 2km <x<—+
Y 1—tgx [ 4 " 2 b 4
™ 5 3
+ 2k v 7+2/e'n<x<7r+2kn'r v ZTT+2/€1T<.X‘<7’1T+2/€TF
x*—4
134 = [CE: x#0 A x#9;y>0per x<—2 v 2<x<9]

ox? — x3




